<<

14 12 1

>>

K=5.0E-2cm/sec

GL-2.0m




WL1

m x K+ 100 x (Hx H-hx h)x
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Q : ( m*/min )
K : ( cm/sec )
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DL = (WL2 - WL1 ) x 3 + WLL

K=2.6 x 10°cm/sec
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gw =2 x 1 x rwx Lsx v (K=+ 100) + 15 x 60

qw: ( m*/min )
rw: (m)
Ls: (m)
K : ( cm/sec )
Ld = DL
Se=(Ld-W2)x (20% 30%)

@ 300mm @ 400mm

@ 500mm ¢ 600mm

1 1.2m 0.6m



N=Q+ agwx Fs

qw:
Fs:

« )
( m*/min )
( m*/min )




Lx m 30.00
Ly m 50.00
WL1 GL-m 2.00
WL2 GL-m 6.00
DL GL-m 13.00
K cm/sec 5.00E-02| K 2.6x 1073cm/sec
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r(m)
rt=v (lxx Ly+ 1)

v (. 30.00 x 50.00 + T )

=21.85m

r2=(Lx+Ly)+ m
= (. 30.00 + 50.00 ) + m

=25.46m

r =25.46m (r2 rl)

H(m)
H =DL - WLl
= 13.00 - 2.00

= 11.00 m

h(m)
h =DL - W2
= 13.00 - 6.00

=7.00m

S(m)
S =H-h
= 11.00 - 7.00

=4.00m

R(m)
R =3000x Sx v (K=+ 100)
= 3000 x 4.00 x v ( 5.00E-02 + 100 )

=268.33 m

In(R=+ r)

In ( 268.33 + 25.46 )
=2.36 1

In(R=+ r) 1



Ls

qw

Q ( m*/min)

m x K+ 100x (Hx H-hx h) y
In(R=+ r)

60

T _x 5.00E-02 + 100 x ( 11.00 x 11.00 - 7.00 x 7.00)

In ( 268.33 + 25.46 )

= 2.88 m*/min

qw ( m*/min )

Ls (m)
= Ld - Se - WL2
= 13.00 - 2.00 - 6.00

=5.00m

gw ( m3/min )
=2x 1M x rwx Lsx v (K+ 100) + 15 x 60
=2x m x 0.30 x 5.00 x v ( 5.00E-02 + 100 ) = 15 x 60

= 0.84 m*/min

NCo)
=Q+ gwx Fs
=2.88 + 0.84 x 2.00
= 6.86

=7

X

60
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L3

LO m 14.00
L1 m 2.00
L2 m 11.00
L3 m 1.00
d m 0.60
N I




